Equilibrium point (0,0)

dxdt = @(t, x) [x(1)*(1-x(1))*(-3-2*x(2)); (-5+2.05*x(1))*x(2)*(1-x(2))];
tspan = [0 10]; 
x1range = [0 1];
x2range = [0 1];
initialPoints = [0.2 0.4; 0.5 0.5; 0.8 0.6; 0.9 0.9; 0.3 0.9; 0.9 0.3; 0.6 0.8];
figure;
hold on;
for i = 1:size(initialPoints, 1)
    x0 = initialPoints(i, :)'; 
    [t, sol] = ode45(dxdt, tspan, x0);
    plot(sol(:, 1), sol(:, 2));
    quiver(sol(1:end-1, 1), sol(1:end-1, 2), diff(sol(:, 1)), diff(sol(:, 2)), 0.5, 'Color', 'b');
end
numGrids = 10; 
gridStep = 1 / numGrids; 
for i = 1:numGrids-1
    line([i * gridStep, i * gridStep], [0, 1], 'Color', 'k', 'LineStyle', '--');
end
for i = 1:numGrids-1
    line([0, 1], [i * gridStep, i * gridStep], 'Color', 'k', 'LineStyle', '--');
end
xlim(x1range);
ylim(x2range);
ax = gca;
ax.Box = 'on';
ax.XAxis.Color = 'k';
ax.YAxis.Color = 'k';
xlabel('The proportion of government departments x');
ylabel('The proportion of Internet platforms y');
scatter(initialPoints(:, 1), initialPoints(:, 2), 'filled', 'MarkerFaceColor', 'red');


dxdt = @(t, x) [x(1)*(1-x(1))*(-2.7-2.2*x(2)); (-5+2.25*x(1))*x(2)*(1-x(2))];
tspan = [0 10]; 
x1range = [0 1];
x2range = [0 1];
initialPoints = [0.2 0.4; 0.5 0.5; 0.8 0.6; 0.9 0.9; 0.3 0.9; 0.9 0.3; 0.6 0.8];
figure;
hold on;
for i = 1:size(initialPoints, 1)
    x0 = initialPoints(i, :)'; 
    [t, sol] = ode45(dxdt, tspan, x0);
    plot(sol(:, 1), sol(:, 2));
    quiver(sol(1:end-1, 1), sol(1:end-1, 2), diff(sol(:, 1)), diff(sol(:, 2)), 0.5, 'Color', 'b');
end
numGrids = 10; 
gridStep = 1 / numGrids; 
for i = 1:numGrids-1
    line([i * gridStep, i * gridStep], [0, 1], 'Color', 'k', 'LineStyle', '--');
end
for i = 1:numGrids-1
    line([0, 1], [i * gridStep, i * gridStep], 'Color', 'k', 'LineStyle', '--');
end
xlim(x1range);
ylim(x2range);
ax = gca;
ax.Box = 'on';
ax.XAxis.Color = 'k';
ax.YAxis.Color = 'k';
xlabel('The proportion of government departments x');
ylabel('The proportion of Internet platforms y');
scatter(initialPoints(:, 1), initialPoints(:, 2), 'filled', 'MarkerFaceColor', 'red');


